
lecture 35
-

°

Approve.nation of derivatives
-

① Use Taylor 's series to build higher order approximations
( uniform discretization )
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③ Using interpolation to get approximation

( it not restricted to uniform discretization

( iit computer approve
-mate derivatives at any point

in the internal



Example: (A) linear interpolation
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(B) Quadratic interpolation
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• Conditions necessary to get complete solution

lil IVP 1 Initial value problem /

if d"µ÷ = f-His , G- , d÷. , . . . :%¥. . )



then if I have for nth order ODE
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(d) BHP ( Boundary value problem )
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